## **RETAIL VALUE** \$57,799.00

## **SELLING FOR \$4995.00**

**ITEMS: 1159** 

## **HOME DEPOT LIGHTING AND ELECTRICAL LOAD**

1003943420 Commercial Area Light 18,000 Lumens Bronze Outdoor Integrated LED wi	ITEM SKU	Description	Quantity	Price	Total Retail
1001716004 HERITAGE SLT CHANDELIER DNI	1003943420	Commercial Area Light 18,000 Lumens Bronze Outdoor Integrated LED wi	1	\$250	\$250
269077 10-2 UF W/G 250 FT	1002814145	26-Watt Chrome Integrated LED Pendant with Clear Crystals	1	\$229	\$229
1002910944 Kensgrove 54 in. Integrated LED Indoor Brushed Nickel Ceiling Fan with Li 1002819679 Essence 30-Watt Chrome Integrated LED Pendant 1 \$199 \$199 1002910948 Kensgrove 54 in. Integrated LED Indoor Espresso Bronze Ceiling Fan with I 1 \$199 \$199 1004065066 Avonbrook 56 in. LED Bronze Ceiling Fan with Light Kit and Remote Contr 1 \$199 \$199 1003816942 Port Isabel 52 in. LED Indoor/Outdoor Matte Black Ceiling Fan with Light I 1 \$199 \$199 1001398952 7-Light Mirrored Stainless Steel Pendant with Laser Cut Mirrored Shade a 1 \$199 \$199 1001398952 7-Light Mirrored Stainless Steel Pendant with Laser Cut Mirrored Shade a 1 \$199 \$199 1001398953 15.75 in. 7-Light Stainless Steel Pendant with Laser Cut Mirrored Shade a 1 \$199 \$199 1001788656 Romaro Row 6-Light Aged Bronze Dinette Chandelier 1 \$199 \$199 1002264701 Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar 904384 66" ALTURA OIL RBD BRNZ CEILING FAN 3 \$182 \$546 1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light 1 \$179 \$179 987787 60 ALTURA OIR RBD BRNZ CEILING FAN 1 \$171 \$171 1002507982 Palm Cove 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light k 1 \$164 \$164 1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit 1 \$154 \$154 1001712497 \$AYNSBRRY 7LT CHR PEND DNI 1 \$155 \$152 1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted W€ 1 \$149 \$149 1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting 1 \$149 \$149 1001491894 Spotlight Al-5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Light Kit 1 \$154 \$154 1001722702 Low-Voltage Black Outdoor Halogen Landscape Path Light with Frosted / 1 \$149 \$149 1001939639 Shanahan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit 1 \$149 \$149 1003939639 Shanahan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit 1 \$149 \$149 1003939639 Shanahan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit 1 \$149 \$149 1000149180 Windward IV 52 in. LED Indoor Brushed Nick	1001716004	HERITAGE 5LT CHANDELIER DNI	1	\$226	\$226
1002819679 Essence 30-Watt Chrome Integrated LED Pendant 1 \$199 \$199 1002910948 Kensgrove S4 in. Integrated LED Indoor Espresso Bronze Ceiling Fan with   1 \$199 \$199 1004065066 Avonbrook 56 in. LED Bronze Ceiling Fan with Light Kit and Remote Contrr	269077	10-2 UF W/G 250 FT	1	\$224	\$224
1002910948 Kensgrove 54 in. Integrated LED Indoor Espresso Bronze Ceiling Fan with I         1         \$199         \$199           1004065066 Avonbrook 56 in. LED Bronze Ceiling Fan with Light Kit and Remote Contr         1         \$199         \$199           1003816942 Port Isabel 52 in. LED Indoor/Outdoor Matte Black Ceiling Fan with Light I         1         \$199         \$199           1001398952 7-Light Mirrored Stainless Steel Fendant with Laser Cut Mirrored Shade         1         \$199         \$199           1001398950 15.75 in. 7-Light Stainless Steel Flushmount with Laser Cut Mirrored Shade         1         \$199         \$199           1001789656 Romaro Row 6-Light Aged Bronze Dinette Chandelier         1         \$199         \$199           100189657 3-LIGHT Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar         1         \$189         \$189           904384 68" ALTURA OIL RBD BRNZ CEILING FAN         3         \$182         \$546           1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Kit         1         \$171         \$171           1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Kit         1         \$164         \$164           100015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit         1         \$152         \$152           100242710 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Pa	1002910944	Kensgrove 54 in. Integrated LED Indoor Brushed Nickel Ceiling Fan with Li	4	\$199	\$796
1004065066 Avonbrook 56 in. LED Bronze Ceiling Fan with Light Kit and Remote Contri   1	1002819679	Essence 30-Watt Chrome Integrated LED Pendant	1	\$199	\$199
1003816942 Port Isabel 52 in. LED Indoor/Outdoor Matte Black Ceiling Fan with Light It         1         \$199         \$199           1001398952 7-Light Mirrored Stainless Steel Pendant with Laser Cut Mirrored Shade a         1         \$199         \$199           1001398950 15-75 in. 7-Light Stainless Steel Flushmount with Laser Cut Mirrored Shad         1         \$199         \$199           1001789656 Romaro Row 6-Light Aged Bronze Dinette Chandelier         1         \$199         \$199           1002264701 Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar         1         \$189         \$189           904384 68" ALTURA Oll RBD BRNZ CEILING FAN         3         \$182         \$546           1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light         1         \$179         \$179           987787 60 ALTURA ORB OUTDOOR CEILING FAN         1         \$171         \$171           1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Iron         1         \$164         \$164           100015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit         1         \$154         \$154           1001712497 SAYNSBRY 7TL CHR PEND DNI         1         \$152         \$152           1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We         1         \$149         \$149	1002910948	Kensgrove 54 in. Integrated LED Indoor Espresso Bronze Ceiling Fan with	1	\$199	\$199
1001398952 7-Light Mirrored Stainless Steel Pendant with Laser Cut Mirrored Shade a         1         \$199         \$199           1001398950 15.75 in. 7-Light Stainless Steel Flushmount with Laser Cut Mirrored Shad         1         \$199         \$199           1001398950 15.75 in. 7-Light Stainless Steel Flushmount with Laser Cut Mirrored Shad         1         \$199         \$199           100139264701 Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar         1         \$189         \$189           904384 68" ALTURA OIL RBD BRNZ CEILING FAN         3         \$182         \$546           1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light         1         \$179         \$179           987787 60 ALTURA ORB OUTDOOR CEILING FAN         1         \$171         \$171         \$171           1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light k         1         \$164         \$164           10001712497 SAYNSBRRY 7LT CHR PEND DNI         1         \$152         \$152           1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We         1         \$149         \$149           1001491884 Spotlight 44.5 in. 3-Light Brushed Nickel LED Vanity Light with Frosted /         1         \$149         \$149           1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light         1	1004065066	Avonbrook 56 in. LED Bronze Ceiling Fan with Light Kit and Remote Control	1	\$199	\$199
1001398950 15.75 in. 7-Light Stainless Steel Flushmount with Laser Cut Mirrored Shad 1 \$199 \$199 1001789656 Romaro Row 6-Light Aged Bronze Dinette Chandelier 1 \$199 \$199 1002264701 Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar 904384 68" ALTURA OIL RBD BRNZ CEILING FAN 3 \$182 \$546 1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light 1 \$179 \$179 987787 60 ALTURA ORB OUTDOOR CEILING FAN 1 \$171 \$171 1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light I \$154 \$164 \$164 1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit 1 \$1552 \$152 1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted ₩€ 1 \$149 \$149 1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting 1 \$149 \$149 1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting 1 \$149 \$149 1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light with Frosted / 1 \$149 \$149 100021230 Brushed Nickel LED Oval Flushmount 1 \$149 \$149 1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 \$149 1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit 1 \$149 \$149 1000217837 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit 1 \$149 \$149 100024767 Foron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$149 \$149 1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1001641276 Duncan 52 in. LED Indoor Brushed Mickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1001641876 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1001641876 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$144 \$144 1001860267 FEDERIGO 48" LE	1003816942	Port Isabel 52 in. LED Indoor/Outdoor Matte Black Ceiling Fan with Light k	1	\$199	\$199
1001789656 Romaro Row G-Light Aged Bronze Dinette Chandelier       1       \$199       \$199         1002264701 Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar       1       \$189       \$189         904384 68" ALTURA OIL RBD BRNZ CEILING FAN       3       \$182       \$546         1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light       1       \$179       \$179         987787 60 ALTURA ORB OUTDOOR CEILING FAN       1       \$171       \$171         1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Iron       1       \$164       \$164         100015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit       1       \$154       \$154         1001712497 SAYNSBRRY 7LT CHR PEND DNI       1       \$152       \$152         1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We       1       \$149       \$149         1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting       1       \$149       \$149         1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light       1       \$149       \$149         1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit       1       \$149       \$149         1002543113 Windward Iv 52 in. LED Indoor Brushed Nickel Ceiling Fan with Ligh	1001398952	7-Light Mirrored Stainless Steel Pendant with Laser Cut Mirrored Shade a	1	\$199	\$199
1002264701 Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar       1       \$189       \$189         904384 68" ALTURA OIL RBD BRNZ CEILING FAN       3       \$182       \$546         1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light       1       \$179       \$179         987787 60 ALTURA ORB OUTDOOR CEILING FAN       1       \$171       \$171         1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light k       1       \$164       \$164         1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit       1       \$154       \$154         1001712497 SAYNSBRRY 7LT CHR PEND DNI       1       \$152       \$152         1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We       1       \$149       \$149         1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting       1       \$149       \$149         1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted /       1       \$149       \$149         1000492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light       1       \$149       \$149         10009253313 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit       1       \$149       \$149         1002543113 Windward IV 52 in. LED Indoor Brushed N	1001398950	15.75 in. 7-Light Stainless Steel Flushmount with Laser Cut Mirrored Shad	1	\$199	\$199
904384 68" ALTURA OIL RBD BRNZ CEILING FAN  1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light  987787 60 ALTURA ORB OUTDOOR CEILING FAN  1 \$171 1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light I \$164 \$164 1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit 1 \$154 \$154 \$1554 \$1001712497 SAYNSBRRY 7LT CHR PEND DNI 1 \$1552 \$152 1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We 1 \$149 \$149 1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting 1 \$149 \$149 1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted / 1 \$149 \$149 1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light 1 \$149 \$149 1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 \$149 1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit at 1 \$149 \$149 1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$144 \$144 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$149 \$149 1001860267 FEDERIGO 48" LED CEILING FAN BN 1 \$142 100186797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 100264450 Altura 48 in. Indoor/Outdoor Brushed Nickel Ceiling Fan 1 \$139 \$139 100214941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 \$139 100014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 \$139 100015418 INTEGRATED 3-HEAD MESH BLACK KIT BN 2 \$130 \$259 1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights 3 \$129	1001789656	Romaro Row 6-Light Aged Bronze Dinette Chandelier	1	\$199	\$199
1003816931 Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light       1       \$179       \$179         987787 60 ALTURA ORB OUTDOOR CEILING FAN       1       \$171       \$171         1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Iron       1       \$164       \$164         1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit       1       \$154       \$154         1001712497 SAYNSBRRY 7LT CHR PEND DNI       1       \$152       \$152         1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We       1       \$149       \$149         1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting       1       \$149       \$149         1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted /       1       \$149       \$149         1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light       1       \$149       \$149         100021230 Brushed Nickel LED Oval Flushmount       1       \$149       \$149         1003939639 Shanahan 52 in. LED Indoor/Outdoor Brushed Nickel Ceiling Fan with Light Kit at       1       \$149       \$149         1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei       1       \$149       \$149         1000014947 Oron 4-Light Brushed Steel C	1002264701	Sudler Ridge 60 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit ar	1	\$189	\$189
987787 60 ALTURA ORB OUTDOOR CEILING FAN  1 \$171 1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Ir \$164 1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit 1 \$154 1001712497 SAYNSBRRY 7LT CHR PEND DNI 1 \$152 1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We 1 \$149 1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting 1 \$149 1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted / \$149 1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light 1 \$149 100021230 Brushed Nickel LED Oval Flushmount 1 \$149 1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit at 1 \$149 1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 100014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$139 1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan 1002264450 Altura 48 in. Indoor/Outdoor Gil-Rubbed Bronze Ceiling Fan 1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 100001491 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN 1 \$137 1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN 1 \$130 1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights 1 \$129 \$387	904384	68" ALTURA OIL RBD BRNZ CEILING FAN	3	\$182	\$546
1002507982 Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light Ir       1       \$164         1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit       1       \$154       \$154         1001712497 SAYNSBRRY 7LT CHR PEND DNI       1       \$152       \$152         1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We       1       \$149       \$149         1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting       1       \$149       \$149         1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted /       1       \$149       \$149         1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light       1       \$149       \$149         1000021230 Brushed Nickel LED Oval Flushmount       1       \$149       \$149         10003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit       1       \$149       \$149         1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei       1       \$149       \$149         1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei       1       \$149       \$149         100014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades       1       \$144       \$144         101680267 FEDERIGO 48" LED CEILI	1003816931	Bishop Hill 52 in. LED Indoor/Outdoor Noble Bronze Ceiling Fan with Light	1	\$179	\$179
1000015398 3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit       1       \$154       \$154         1001712497 SAYNSBRRY 7LT CHR PEND DNI       1       \$152       \$152         1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted Wε       1       \$149       \$149         1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting       1       \$149       \$149         100154599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted /       1       \$149       \$149         1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light       1       \$149       \$149         1000021230 Brushed Nickel LED Oval Flushmount       1       \$149       \$149         1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit       1       \$149       \$149         1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei       1       \$149       \$149         1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei       1       \$149       \$149         100014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades       1       \$144       \$144         101673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant       1       \$144       \$144         1001860267 FEDERIGO 48" LED CE	987787	60 ALTURA ORB OUTDOOR CEILING FAN	1	\$171	\$171
1001712497 SAYNSBRRY 7LT CHR PEND DNI       1       \$152       \$152         1002427110 Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted Wϵ       1       \$149       \$149         1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting       1       \$149       \$149         1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted τ       1       \$149       \$149         1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light       1       \$149       \$149         100021230 Brushed Nickel LED Oval Flushmount       1       \$149       \$149         1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit       1       \$149       \$149         1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Ren       1       \$149       \$149         1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Ren       1       \$149       \$149         1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades       1       \$144       \$144         1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant       1       \$142       \$142         1001860267 FEDERIGO 48" LED CEILING FAN BN       1       \$139       \$139         1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceilin	1002507982	Palm Cove 52 in. LED Indoor/Outdoor Natural Iron Ceiling Fan with Light k	1	\$164	\$164
1 \$149 \$149 \$149 \$149 \$149 \$149 \$149 \$14	1000015398	3.71 ft. Oil Rubbed Bronze Integrated LED Track Lighting Kit	1	\$154	\$154
1001491884 Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting 1001514599 Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted / 1 \$149 \$149 \$1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light 1 \$149 \$149 \$1000021230 Brushed Nickel LED Oval Flushmount 1 \$149 \$149 \$1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 \$149 \$1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit a 1 \$149 \$149 \$1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 \$1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 \$144 \$1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$142 \$142 \$142 \$1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 \$139 \$1002264450 Altura 48 in. Indoor/Outdoor Brushed Nickel Ceiling Fan  1 \$139 \$139 \$139 \$139 \$139 \$139 \$139 \$	1001712497	SAYNSBRRY 7LT CHR PEND DNI	1	\$152	\$152
1 \$149 \$149 \$149 \$1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light 1 \$149 \$149 \$149 \$100021230 Brushed Nickel LED Oval Flushmount 1 \$149 \$149 \$149 \$103939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 \$149 \$149 \$1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit all \$149 \$149 \$149 \$1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit all \$149 \$149 \$149 \$1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rel \$149 \$149 \$149 \$1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 \$144 \$1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$144 \$144 \$144 \$1001860267 FEDERIGO 48" LED CEILING FAN BN 1 \$142 \$142 \$142 \$142 \$1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 \$139 \$1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan 1 \$139 \$139 \$139 \$1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan 1 \$139 \$139 \$139 \$139 \$139 \$139 \$139 \$1	1002427110	Boswell Quarter 20 in. 5-Light Brushed Nickel Chandelier with Painted We	1	\$149	\$149
1001492702 Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light 1 \$149 \$149 1000021230 Brushed Nickel LED Oval Flushmount 1 \$149 \$149 1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 \$149 1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit at 1 \$149 \$149 1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$142 \$144 1001860267 FEDERIGO 48" LED CEILING FAN BN 1 \$142 \$142 1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan 1 \$139 \$139 1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan 1 \$139 \$139 100014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 \$139 328478 18" BENTLEY II NI CEILING FAN 1 \$137 \$137 1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN 2 \$130 \$259 1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights	1001491884	Spotlight 44.5 in. 3-Light Oil-Rubbed Bronze Integrated LED Track Lighting	1	\$149	\$149
1000021230 Brushed Nickel LED Oval Flushmount       1       \$149       \$149         1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit       1       \$149       \$149         1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and I       \$149       \$149         1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Ren       1       \$149       \$149         1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades       1       \$144       \$144         1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant       1       \$144       \$144         1001860267 FEDERIGO 48" LED CEILING FAN BN       1       \$142       \$142         1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount       1       \$139       \$139         1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan       1       \$139       \$139         1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139       \$139         1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 El	1001514599	Alberson Collection 4-Light Brushed Nickel LED Vanity Light with Frosted	1	\$149	\$149
1003939639 Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit 1 \$149 \$149 1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit aı 1 \$149 \$149 1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Reı 1 \$149 \$149 1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$144 \$144 1001860267 FEDERIGO 48" LED CEILING FAN BN 1 \$142 \$142 1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan 1 \$139 \$139 1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan 1 \$139 \$139 1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 \$139 328478 18" BENTLEY II NI CEILING FAN 1 \$137 \$137 1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN 2 \$130 \$259 1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights 3 \$129 \$387	1001492702	Low-Voltage Black Outdoor Halogen Landscape Path Light and Flood Light	1	\$149	\$149
1002543113 Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit al 1 \$149 \$149 \$1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 \$149 \$1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 \$1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$144 \$144 \$1001860267 FEDERIGO 48" LED CEILING FAN BN 1 \$142 \$142 \$142 \$1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 \$139 \$1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan 1 \$139 \$139 \$139 \$1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan 1 \$139 \$139 \$139 \$139 \$1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 \$139 \$139 \$139 \$139 \$139 \$139 \$1	1000021230	Brushed Nickel LED Oval Flushmount	1	\$149	\$149
1002227827 Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei 1 \$149 \$149 1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades 1 \$144 \$144 1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant 1 \$144 \$144 1001860267 FEDERIGO 48" LED CEILING FAN BN 1 \$142 \$142 1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount 1 \$139 \$139 1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan 1 \$139 \$139 1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan 1 \$139 \$139 1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades 1 \$139 \$139 328478 18" BENTLEY II NI CEILING FAN 1 \$137 \$137 1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN 2 \$130 \$259 1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights 3 \$129 \$387	1003939639	Shanahan 52 in. LED Indoor/Outdoor Bronze Ceiling Fan with Light Kit	1	\$149	\$149
1000014947 Oron 4-Light Brushed Steel Chandelier with White Glass Shades       1       \$144       \$144         1001673675 Sarolta Sands Collection 5-Light Antique Silver Orb Pendant       1       \$144       \$144         1001860267 FEDERIGO 48" LED CEILING FAN BN       1       \$142       \$142         1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount       1       \$139       \$139         1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan       1       \$139       \$139         1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139       \$139         1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1002543113	Windward IV 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit an	1	\$149	\$149
1001673675       Sarolta Sands Collection 5-Light Antique Silver Orb Pendant       1       \$144       \$144         1001860267       FEDERIGO 48" LED CEILING FAN BN       1       \$142       \$142         1001816797       Milton 3-Light Chrome Crystal Semi-Flushmount       1       \$139       \$139         1001641276       Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan       1       \$139       \$139         1002264450       Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139       \$139         1000014941       Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478       18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418       INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454       Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1002227827	Mercer 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit and Rei	1	\$149	\$149
1001860267 FEDERIGO 48" LED CEILING FAN BN       1       \$142       \$142         1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount       1       \$139       \$139         1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan       1       \$139       \$139         1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139       \$139         1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1000014947	Oron 4-Light Brushed Steel Chandelier with White Glass Shades	1	\$144	\$144
1001816797 Milton 3-Light Chrome Crystal Semi-Flushmount       1       \$139       \$139         1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan       1       \$139       \$139         1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139       \$139         1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1001673675	Sarolta Sands Collection 5-Light Antique Silver Orb Pendant	1	\$144	\$144
1001641276 Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan       1       \$139         1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139         1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129	1001860267	FEDERIGO 48" LED CEILING FAN BN	1	\$142	\$142
1002264450 Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan       1       \$139       \$139         1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1001816797	Milton 3-Light Chrome Crystal Semi-Flushmount	1	\$139	\$139
1000014941 Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades       1       \$139       \$139         328478 18" BENTLEY II NI CEILING FAN       1       \$137       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1001641276	Duncan 52 in. LED Indoor Brushed Nickel Ceiling Fan	1	\$139	\$139
328478 18" BENTLEY II NI CEILING FAN       1       \$137         1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1002264450	Altura 48 in. Indoor/Outdoor Oil-Rubbed Bronze Ceiling Fan	1	\$139	\$139
1000015418 INTEGRATED 3-HEAD MESH BLACK KIT BN       2       \$130       \$259         1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights       3       \$129       \$387	1000014941	Mattock 4-Light Oil Rubbed Bronze Chandelier with Glass Shades	1	\$139	\$139
1003880454 Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights 3 \$129 \$387	328478	18" BENTLEY II NI CEILING FAN	1	\$137	\$137
	1000015418	INTEGRATED 3-HEAD MESH BLACK KIT BN	2	\$130	\$259
1003316478 Connor 54 in. LED Brushed Nickel Dual-Mount Ceiling Fan with Light Kit ar 3 \$129 \$387	1003880454	Ellard 52 in. LED Matte Black Indoor Ceiling Fan with Lights	3	\$129	\$387
	1003316478	Connor 54 in. LED Brushed Nickel Dual-Mount Ceiling Fan with Light Kit ar	3	\$129	\$387

1001863390 7000-Lumen Twin-Head LED Work Light	2	\$129	\$258
1002371844 20 in. 4-Light Chrome Semi-Flushmount with Crystal Glass Branches	1	\$129	\$129
1001505894 Ostrich Egg 44.5 in. 3-Light White Integrated LED Track Lighting Kit	1	\$129	\$129
1003939583 Ackerly 52 in. Integrated LED Indoor/Outdoor Bronze Ceiling Fan with Ligh	1	\$129	\$129
1001514595 Alberson Collection 3-Light Brushed Nickel LED Vanity Light with Frosted /	1	\$129	\$129
1003989701 10,000-Lumen Twin-Head LED Work Light	1	\$125	\$125
1001028991 Merwry 52 in. Integrated LED Indoor Brushed Nickel Ceiling Fan with Ligh	5	\$124	\$620
1000015213 44.5 in. 3-Light Brushed Nickel LED Spotlight Track Lighting Kit	1	\$124	\$124
1001199247 100 Amp 12-Spaces 24-Circuits Flush Mount Title 24 Compliant BR Type N	1	\$124	\$124
1001413664 Jumilla LED 4-Light Matte Nickel Track Lighting Kit	1	\$120	\$120
1004722124 JBL FLIP 5 - BLACK	1	\$120	\$120
1001488938 Low-Voltage Bronze Outdoor Integrated LED Landscape Light Kit with 2 Fl	2	\$119	\$238
1001238112 Merwry 52 in. Integrated LED Indoor White Ceiling Fan with Light Kit and	2	\$119	\$238
1003939557 North Pond 52 in. LED Outdoor Matte White Ceiling Fan with Light	2	\$119	\$238
1002312566 Channing 52 in. Indoor LED Brushed Nickel Ceiling Fan with Light	1	\$119	\$119
1001070937 MNLK L48 840 M4 Linkable 4 ft. White LED Strip Light	1	\$117	\$117
165258 6-3 NM W/G 50 FT	3	\$112	\$337
1001789690 CALISITTI 3LT MINI CHAND DNI	1	\$111	\$111
1003453367 9.8-Watt Millennium Black Adjustable Light Color Outdoor Integrated LED	3	\$109	\$327
1001571764 14 in. 1-Light Brushed Nickel Integrated LED Semi-Flushmount with Circul	1	\$109	\$109
1001409292 5-Light Oil-Rubbed Bronze Chandelier with Frosted White Glass Shades	1	\$109	\$109
1001225413 80 in. Antique Bronze 3 Arc Floor Lamp	1	\$109	\$109
1000001686 4 FT LED WRAP	1	\$109	\$109
1002076258 1-Light Integrated LED Outdoor Bronze Dusk to Dawn Area/Security Flooc	1	\$105	\$105
1001862494 5" E26 SHOWER TRIM, WHT 6PK	2	\$102	\$204
1000027274 Madison 3 ft. 4 Light Rubbed Bronze LED Fixed Track with 400 LM/Head 1	13	\$100	\$1,300
1000027122 Madison 3 ft. 4-Light Satin Nickel LED Fixed Track with 400 LM/Head 1000	13	\$100	\$1,300
1002788475 Crofton Collection 3-light Rustic Pewter Chandelier with Brushed Nickel A	3	\$100	\$300
1003015140 Notifi Elite Wired Video Door Bell	2	\$100	\$200
1004041022 Malone 54 in. LED Brushed Nickel Ceiling Fan with Light Kit	1	\$100	\$100
1001713235 3200-Lumen Multi-Directional LED Tripod Work Light	1	\$100	\$100
1002578072 180 White Motion Activated Outdoor Integrated LED Twin Head Flood Lig	1	\$100	\$100
1004155108 6-Piece Apprentice Tool Set	1	\$100	\$100
1002230844 3-Light Brushed Nickel Vanity Light with Opal Glass Shades	1	\$100	\$100
1002315488 18-Volt ONE+ Score Wireless Speaker Set with SKAA Technology	1	\$100	\$100
1002290573 Highbury II 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit	1	\$99	\$99
1001844772 3-Light Chrome Square Bath Vanity Light with Etched White Glass	3	\$98	\$294
1001814048 14 in. 75-Watt Equivalent Brushed Nickel Integrated LED Flushmount with	1	\$98	\$98
1001567762 5-Light Brushed Nickel Chandelier with Etched White Glass Shades	1	\$97	\$97
1003222182 3-Light Bronze Semi-Flush Mount with Clear Glass Shade	1	\$97	\$97
1002427063 2-Light Vintage Bronze Flush Mount	1	\$97	\$97
1001844652 SALTARELL 4LT LED BN VAN DNI	1	\$97	\$97
1001844659 MARQUESI 4LT LED BN VAN DNI	1	\$97	\$97
1001236066 52" MERWRY LED CEILING FAN MBK	4	\$96	\$386
1001844680 TULIANNE 3 LT LED VAN DNI	1	\$93	\$93
647324 4 FT 2L T5HO WETLIGHT MVOLT	2	\$92	\$183
866886 10/3 100' RIDGID EXTENSION CORD	2	\$92	\$183
1001311064 270 Degree 3-Head White LED Motion Outdoor Security Light	4	\$90	\$360
1002578069 180 Bronze Motion Activated Outdoor Integrated LED Twin Head Flood Li	2	\$90	\$180
1002076264 Wall/Pole Mount Area Light Outdoor LED with Dusk to Dawn Control	2	\$90	\$180
1001279371 44 in. 3-Light White LED Track Kit	1	\$90	\$90

1001220867 Olgelthorpe 4-Light Brushed Nickel Vanity Light with Bell Shaped Frosted	1	\$90	\$90
1001225415 Bourland 14 in. 3-Light Polished Chrome Semi-Flushmount with Glass Dru	1	\$90	\$90
1001844758 3-Light Chrome Bath Vanity Light with Bell Shaped Etched White Glass	1	\$90	\$90
1000015208 3.7 ft. 3 -Light Oil Rubbed Bronze Halogen Track Lighting Kit	1	\$90	\$90
1002788483 CROFTON 5LT RUSTC PEWTR BN CHAND DNI	1	\$89	\$89
1001106938 Alabaster Glass 30 in. 4-Light Antique Bronze Bathroom Vanity Light	2	\$87	\$174
1002372976 Frame Collection 15-Watt Brushed Nickel Integrated LED Bathroom Vanit	1	\$87	\$87
1001254670 180-Watt Equivalent Brushed Nickel Integrated LED Vanity Light	1	\$87	\$87
1002272171 Low-Voltage 20-Watt Equivalent Black Outdoor Integrated LED Landscapε	7	\$85	\$595
1001802573 Samara Collection 4-Light Brushed Nickel Track Lighting with Dimmable 5	1	\$85	\$85
1003453351 4.5-Watt Millennium Black Adjustable Light Color Outdoor Integrated LED	1	\$85	\$85
268887 14-3 NM W/G 250 FT	1	\$84	\$84
1000027118 Madison 2 ft. 3-Light Satin Nickel LED Fixed Track with 400 LM/Head 1000	6	\$80	\$480
1001820735 High Output 4 ft. White 5200 Lumen 4000K Integrated LED Wrap Light (D	5	\$80	\$400
1000027276 Solo 2 ft. 3-Light Satin Nickel LED Fixed Track with 400 LM/Head 1000027	4	\$80	\$320
1002263777 Holly Springs 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit	2	\$80	\$160
1000031357 Olivet 3-Light Chrome Vanity Light with Cube Glass Shades	2	\$80	\$160
1002427106 Boswell Quarter 9.44 in. 1-Light Brushed Nickel Mini Pendant with Painte	1	\$80	\$80
1000029957 2' X 4' BACKLIT LED TROFFER WHITE	1	\$80	\$80
1002168424 Visalia 20.25 in. 3-Light Brushed Nickel Bath Light	1	\$80	\$80
1002586542 Menage 52 in. Integrated LED Indoor Low Profile Brushed Nickel Ceiling F	1	\$80	\$80
1001376092 Lumsden 7 in. Black Outdoor Integrated LED Wall Mount Lantern with Pho	1	\$80	\$80
1002264521 Holly Springs Low Profile 52 in. LED Indoor Brushed Nickel Ceiling Fan with	1	\$80	\$80
1002352697 CUSSETA 6LT CHRM LED BATH LIGHT DNI	1	\$79	\$79
289803 REGENCY 4' BRUSH NICKEL 4LT T8 32W	1	\$78	\$78
505031 2PC POST W/PHOTO EYE+OUTLET, WHT	2	\$77	\$155
973646 CE 22PC ELECTRICIAN'S TOOL SET W/BAG	1	\$77	\$77
433180 4FT 4LT COMMERCIAL WRAP T8-32W MV	2	\$76	\$152
1001255327 3-Light Brushed Nickel Vanity Light with Clear and Sand Glass Shades	1	\$76	\$76
1002473722 15.25 in. Boundless Collection 17-Watt Brushed Nickel Integrated LED Flu	1	\$76	\$76
958993 6" HALO IC REMODEL HOUSING 6PK	1	\$76	\$76
1000707892 Black Outdoor LED Medium Wall Light	10	\$75	\$750
1000640382 Aged Iron Motion Sensing Outdoor LED Wall Lantern	3	\$75	\$225
1000052871 14 in. 3-Light Brushed Nickel Flushmount with Crystal Accents	2	\$75	\$150
1002067341 Black Medium Outdoor Seeded Glass Dusk to Dawn Wall Lantern	1	\$75	\$75
1002578060 180 White Motion Activated Outdoor Integrated LED Twin Head Flood Lig	1	\$75	\$75
1002502067 3-Light Satin Nickel Bath Sconce with Opal Glass Shades	1	\$75	\$75
1000640615 Aged Iron Outdoor LED Wall Lantern	1	\$75	\$75
1002962270 1-Light Bronze Outdoor Wall Mount Lantern	1	\$75	\$75
1002473719 15.25 in. Boundless Collection 17-Watt Antique Bronze Integrated LED Flu	1	\$74	\$74
1001862465 5" E26 REMODEL AIRTITE HOUSING, 6PK	6	\$73	\$440
1003918737 24FT SMART COLOR CHANGING TAPE KIT	1	\$72	\$72
164898 8-3 NM W/G 50 FT	1	\$72	\$72
1002305228 LARGE SINGLE LED FLOODLIGHT, BRONZE	2	\$71	\$141
1002305236 LARGE SINGLE FLOOD, WHITE	1	\$71	\$71
1003015129 Alert Wireless Plug-In Door Bell Kit	5	\$70	\$350
1001318510 180 Bronze LED Motion Outdoor Security Light	3	\$70 \$70	\$210
1004207434 Hawkins 44 in. LED Brushed Nickel Ceiling Fan with Light	3	\$70	\$210
1002099564 Residence Collection 1-Light Outdoor 8 Inch Textured Black LED Wall Lant	3	\$70	\$210
1003334179 13 in. 24-Watt Oil Rubbed Bronze Color Changeable LED Ceiling Flushmou	2	\$70	\$140
1004207440 Hawkins 44 in. LED Oil Rubbed Bronze Ceiling Fan with Light	2	\$70	\$140

1002246543 Bronze Motion Sensor Outdoor Integrated LED Medium Wall Mount Lanto	2	\$70	\$140
711575 10/4 25' 30AMP RIDGID GEN CORD	1	\$70	\$70
1001642357 1-Light Black Mini Pendant with Clear Glass Shade	1	\$70	\$70
1001798987 24 ft. LED Bright White Indoor/Outdoor Tape Light Kit	1	\$70	\$70
1003334178 13 in. 24-Watt Brushed Nickel Color Changeable LED Ceiling Flushmount v	1	\$70	\$70
1003000035 FSL Single Head Bronze Outdoor Integrated LED Flood Light with Selectab	1	\$70	\$70
1001818395 50 ft. Yellow Integrated LED String Work Light	1	\$70	\$70
1001863383 1500-Lumen Rechargeable LED Work Light	1	\$70	\$70
1003241180 7500-Lumen LED String Light	1	\$70	\$70
1003239556 Ezekiel 1-Light Bronze Outdoor Wall Mount Sconce	1	\$70	\$70
1001224329 Solomone 3-Light Polished Chrome Vanity Light with Opal Glass Shades	2	\$69	\$138
1000021219 Brushed Nickel LED Round Flushmount	1	\$69	\$69
1001673208 52" ROCKPORT LED CEILING FAN BN	2	\$67	\$134
1001720431 15 in. 225-Watt Equivalent Brushed Nickel Integrated LED Flushmount with	1	\$67	\$67
1001220863 Olgelthorpe 3-Light Brushed Nickel Vanity Light with Bell Shaped Frosted	1	\$67	\$67
1002067336 Black Outdoor Seeded Glass Dusk to Dawn Wall Lantern	3	\$65	\$195
1001673215 52" ROCKPORT LED CEILING FAN ORB	3	\$65	\$194
1001720467 15 in. 225-Watt Equivalent Oil-Rubbed Bronze Integrated LED Flushmoun	2	\$65	\$130
795527 DALE TIFFANY 2LT LEAF SEMI-FLUSH	2	\$65	\$130
1001990571 Solar Black Outdoor Integrated LED 3000K Warm White Landscape Path L	1	\$65	\$65
1001727935 180 Black Solar Powered Motion LED Security Light with Battery Backup	1	\$65	\$65
1002513859 60-Watt Equivalent Brushed Nickel LED Wall Sconce	1	\$65	\$65
1001106837 24 in. 3-Light Antique Bronze Bathroom Vanity Light with Alabaster Glass	1	\$65	\$65
1002099636 Port Oxford 1-Light Oil-Rubbed Chestnut Outdoor Motion Sensor Wall Lar	1	\$65	\$65
1000040024 Homeline 100 Amp 20-Space 40-Circuit Indoor Main Breaker Plug-On Neu	1	, \$65	, \$65
1003190801 LED 43 120V WRAPAROUND LIGHT	30	, \$63	\$1,894
531718 MAURICIO 4LT DIRECTIONAL LIGHT	1	, \$63	\$63
1001673210 52" ROCKPORT LED CEILING FAN MW	1	\$62	\$62
1001862475 E26 Series 5 in. White Recessed Ceiling Light Trim with Self Flanged Splay	30	\$61	\$1,827
442714 2'X4' 4LT TROFFER W/LAMPS & 6' WHIP	9	\$61	\$553
1001862466 6" BAFFLE, WHT 6PK	3	\$61	\$182
1001029894 52" ROTHLEY CEILING FAN ORB	1	\$61	\$61
1003219856 FEIT 10" LED DUAL FLD D2D 3WY 5	1	\$61	\$61
1001574760 2 ft. x 4 ft. White Integrated LED Lay-In Troffer with Prismatic Lens	10	\$60	\$600
1002819680 Essence 7.5-Watt Chrome Integrated LED Pendant	4	\$60	\$240
1002246554 Bronze Motion Sensor Outdoor Medium Wall Mount Lantern	4	\$60	\$240
1002099571 Residence Collection 1-Light Outdoor 6 Inch Textured Black LED Wall Lant	3	\$60	\$180
1002185497 1LT OUTDOOR WATER GLASS WALL LNT BLK	2	\$60	\$120
1002628682 13 in. 180-Watt Equivalent Oil Rubbed Bronze Integrated LED Ceiling Flus	1	\$60	\$60
1002592736 Montgomery 42 in. LED Indoor Oil Rubbed Bronze Ceiling Fan with Light K	1	\$60	\$60
1001564300 Wilkerson 1-Light Black Outdoor Wall Mount	1	\$60	\$60
1000048635 Meridith 3-Light Polished Chrome Crystal Semi-Flush Mount Light	1	\$60	\$60
1000049178 BLACK BATTEN NAUTICAL EXTERIOR LIGHT	1	\$60	\$60
1003186265 BLUETOOTH OUTDOOR ROCK SPEAKER	2	\$59	\$119
1003186269 BLUETOOTH OUTDOOR GARDEN SPEAKER	1	\$59	\$59
1003528022 MEGASOUND BT SPKR PORTABLE POWR BANK	1	\$59	\$59 \$59
122855 44" HAWKINS TARN BRNZ CEILING FAN	2	\$59 \$58	\$116
494564 2PC BLACK ALUMINUM OUTDOOR LAMP POST	3	\$56 \$57	\$110
494564 2PC BLACK ALDIMINOM OUTDOOK LAWIP POST 442260 4' 2L T5 HIGH OUTPUT WRAP M-VOLT	3 1	\$57 \$57	\$172 \$57
165474 52" GLENDALE BRSHD NKL CEILING FAN	1	\$57 \$57	\$57 \$57
750734 FRENCH 3-LANTERN BLACK EXT POST	4	\$57 \$56	\$37 \$225
, 50, 54 I NEIGH S-EAMIENN DEACH EAT FOST	4	٥٥ڔ	<b>3223</b>

1002063832 WINEGARD FLATWAVE AMPLIFIED HDTV ANT	3	\$56	\$167
1001574763 2 ft. x 2 ft. White Integrated LED Lay-In Troffer with Prismatic Lens	5	\$55	\$275
1001799061 5-Light LED White AC Puck Light Kit	4	\$55	\$220
1003918755 Clarkston II 44 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit	3	\$55	\$165
1000053230 11.8 in. 120-Watt Equivalent Brushed Nickel Integrated LED Low-Profile F	2	\$55	\$110
1004087633 Ascend Standard 15 Amp 7-Day Indoor Programmable In-Wall Timer with	1	\$55	\$55
1002600376 6 in. and 5 in. White Integrated LED Recessed Trim (6-Pack)	1	\$55	\$55
1002578009 Northampton 1-Light Black Outdoor Wall Lantern Sconce	1	\$55	\$55
1001486800 Solar Bronze Outdoor Integrated LED 3000K 10-Lumens Landscape Path L	1	\$55	\$55
1002366598 180 Degree White Motion Activated Outdoor Integrated LED Flood Light	1	\$55	\$55
1002169049 Mansfield 1-Light Black Outdoor Wall Lantern	1	\$55	\$55
1002627539 Solar Powered 10-Lumen Bronze Outdoor Integrated LED Landscape Path	1	\$55	\$55
1001720517 13 in. 180-Watt Equivalent Oil-Rubbed Bronze Integrated LED Flushmoun	1	\$55	\$55
1001855995 Solar Black Outdoor Integrated LED Landscape Path Light with Clear Glass	1	\$55	\$55
1001003232 Solar Mediterranean Bronze Outdoor Integrated LED Landscape Path Ligh	1	\$55	\$55
1001730274 Aged Iron Outdoor LED Wall Lantern with Crackle Glass	1	\$55	\$55
111511 INTMC T104 INDOOR MECHANICAL TIMER	1	\$55	\$55
1002272179 Low-Voltage 100-Watt Equivalent Black Outdoor Integrated LED Landscar	4	\$53	\$212
468282 52" BROOKHURST WHITE CEILING FAN	1	\$53	\$53
992620 BREAKER SIE 20A 1-POLE GFCI	2	\$52	\$104
1000015406 Baffle 44.5 in. 3-Light White Track Lighting Kit	1	\$52	\$52
453879 4FT 2LT COMMERCIAL WRAP T8-32W MV	7	\$51	\$359
1000039746 Homeline 20 Amp Single-Pole Dual Function (CAFCI and GFCI) Circuit Brea	1	\$51	\$51
1000044891 42" GLENDALE WH	1	\$51	\$51
1000012660 Underway 2-Light White Outdoor Flushmount	13	\$50	\$650
1002269802 Hugger 52 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit	6	\$50	\$300
1002644308 Solar Black Outdoor Integrated LED Warm White 100-Lumen Landscape S	2	\$50	\$100
762791 5" LITHONIA LED WHITE BAFFLE KIT	2	\$50	\$100
1000020212 360 Square 4-Light Black Motion Sensing Outdoor Flush Mount	1	\$50	\$50
1000725632 Clarkston 44 in. Indoor Brushed Nickel Ceiling Fan with Light Kit	1	\$50	\$50
1002654991 Springbrook 1-Light Rustic Outdoor Wall Mount Lantern	1	\$50	\$50
1000722109 5 in. Matte White Recessed Gimbal Integrated LED Lighting Kit	1	\$50	\$50
1003851541 3-Light RGBW LED Puck Light Kit	1	\$50	\$50
1004065033 Bellina 42 in. Oil-Rubbed Bronze Ceiling Fan with LED Light Kit	1	\$50	\$50
1000016268 Halophane 5-Light Oil Rubbed Bronze Chandelier with Frosted Ribbed Gla	1	\$50	\$50
1003239942 180-Watt Equivalent White LED Ceiling Flush Mount	1	\$50	\$50
1003918779 44" CLARKSTON II CEILING FAN ORB	1	\$49	\$49
1001254803 11 in. 120-Watt Equivalent Brushed Nickel Square Integrated LED Flushm	1	\$49	\$49
983053 INTMC T103 INDOOR MECHANICAL TIMER	1	\$49	\$49
762461 4" LITHONIA LED WHITE GIMBAL KIT	1	\$49	\$49
1003918865 44" CLARKSTON II CEILING FAN WHITE	1	\$ <del>4</del> 9	\$49
528927 12/3 100' HUSKY EXTENSION CORD	1	\$ <del>4</del> 9	\$49
1004552029 1080p Indoor Wireless Surveillance System includes WyzeCam v2 Camera	1	\$48	\$48
583260 RED LED EMERGENCY&EXIT W/BATTERY BU	1	\$48	\$48
171348 52" FARMINGTON NAT IRON CEILING FAN	1	\$48	\$48
842401 CE 3LT RUSTIC IRON CHANDELIER	1	\$47	\$47
1002352425 KRISTELLA 1LT MINI PNDT DNI	1	\$47 \$47	\$47
796538 2LT LED WHITE EMERGENCY LIGHT	1	\$47 \$47	\$47 \$47
1002098190 4 ft. 50-Watt White Integrated LED Strip Light	8	\$47 \$45	\$47 \$360
1002366429 180 Degree Black Motion Activated Outdoor Integrated LED Twin Head Fl	6	\$45 \$45	\$270
1002366591 180 Degree White Motion Activated Outdoor Integrated LED Twin Head F	4	\$45 \$45	\$270 \$180
1002500551 100 Degree White Motion Activated Outdoor Integrated LED Twin Head F	7	Ų <del>-</del> -J	<b>7100</b>

1002638550 180-Degree White Solar Powered Motion Activated Outdoor Integrated L	4	\$45	\$180
1002632072 15 in. 22.5-Watt Dimmable White Integrated LED Edge-Lit Round Flat Pan	2	\$45	\$90
764375 EDGEMOOR 2LT ORB SEMFM DNI	1	\$45	\$45
1001407811 Wireless or Wired Door Bell, White with Brushed Nickel Accent	1	\$45	\$45
1001407776 Wireless or Wired Door Bell, Brushed Nickel	1	\$45	\$45
1000031349 Olivet 1-Light Chrome Sconce with Cube Glass Shade	1	\$45	\$45
1001486802 Solar Black Outdoor Integrated LED 3000K 70-Lumens Landscape Spot Lig	1	\$45	\$45
754470 44" CLARKSTON WHITE CEILING FAN	1	\$45	\$45
145830 T41-4" LED RETROFIT TRIM W/ WH GIMBA	8	\$44	\$354
1001834980 13 in. 180-Watt Equivalent White Integrated LED Flushmount with Froste	1	\$44	\$44
1001799057 3-Light LED White AC Puck Light Kit	1	\$44	\$44
1001799039 3-Light LED Black AC Puck Light Kit	2	\$43	\$86
1001606561 LED TWINPK OUTDOOR COTT LANT BRZ DNI	1	\$43	\$43
1001262578 WK WF10YR BATTERY COMBO ALARM W/VOIC	1	\$43	\$43
1002772768 18 in. LED White Linkable Plug In Under Cabinet Light	1	\$43	\$43
1000052875 1-Light Oil Rubbed Bronze Vintage Bulb Semi-Flushmount with Bell Shape	1	\$43	\$43
1001488632 Low-Voltage 75-Watt Equivalent Black Outdoor Integrated LED Landscapε	1	\$43	\$43
1000039748 Homeline 15 Amp Single-Pole Plug-On Neutral Combination Arc Fault Circ	1	\$43	\$43
194921 INTMC T101 INDOOR MECHANICAL TIMER	1	\$42	\$42
1004186967 Outdoor/Indoor 40 ft. Line Voltage (120-Volt) Soft White Flexible Integrat	5	\$40	\$200
1000054134 15 in. 2-Light Oil-Rubbed Bronze Semi-Flushmount with Tea Stained Glass	4	\$40	\$160
1001407821 Wireless or Wired Door Bell, White Bead Board	3	\$40	\$120
1004186857 Outdoor/Indoor 16 ft. Line Voltage (120-Volt) Red/Green/Blue/White Flex	2	\$40	\$80
1002448209 1-Light Brushed Nickel Wall Sconce with Frosted Opal Glass Shade	1	\$40	\$40
1002477353 Wireless 140-Degree Bronze Motion Activated Outdoor Integrated LED S€	1	\$40	\$40
1000012657 Liberty White Outdoor Wall-Mount Lantern	1	\$40	\$40
1002640421 Kennesaw 42 in. LED Indoor White Ceiling Fan with Light Kit	1	\$40	\$40
1000639096 Brushed Nickel Outdoor LED Sconce	1	\$40	\$40
1000048906 180 Degree 2-Head Black Motion Activated Outdoor Flood Light	1	\$40	\$40
1003540153 48 in. 4,000-Lumen White Integrated LED Wraparound	1	\$40	\$40
1002592780 Middleton 42 in. LED Indoor Brushed Nickel Ceiling Fan with Light Kit	1	\$40	\$40
1002305217 Bronze Outdoor Integrated LED Wall Pack Light with Dusk to Dawn Photo	2	\$39	\$77
592082 AGED IRON 7" MOTION EXT WALL LANTERN	1	\$39	\$39
1000015259 1-Light Black LED Track Lighting Step Baffle	1	\$39	\$39
622884 FLOOR BOX W/DUPLEX REC, NICKEL PLATE	1	\$39	\$39
1002356676 1-Light Gray Outdoor Compact Fluorescent Area Light with Dusk to Dawn	29	\$38	\$1,101
1003325266 HALO RL 5/6" LED SELECT CCT 1200 LUM	4	\$38	\$151
123709 INTMC T101 TIMER MECHANICS ONLY	2	\$38	\$76
441783 2LT HIGH OUTPUT MULTI VOLT LIGHT	1	\$38	\$38
145597 T61-6" LED RETROFT TRIM W/ WH GIMBAL	18	\$37	\$658
762428 4" LITHONIA LED WHITE BAFFLE KIT	3	, \$37	\$111
1003008632 Wireless or Wired Door Bell in Dark Oak Wood with Silver Insert	1	\$37	\$37
245200 HALOPHANE 5LT BRSH NICKEL CHANDELIER	1	, \$37	, \$37
1000049517 13 in. 2-Light Brushed Nickel Flush Mount with Frosted Glass Shade	1	, \$37	, \$37
272288 AGED IRON 9" EXTERIOR WALL LANTERN	1	\$37	\$37
637449 1000W HALTELTRIPOD WK LT	2	, \$36	, \$71
718208 RED LED EMERGENCY EXIT SIGN	1	\$36	\$36
697637 LEEDS 9"MYSTIC BRNZ EXT WALL LANTERN	1	\$36	\$36
1001417373 Wireless Plug-In Door Bell Night Light Kit	5	\$35	\$175
1002632076 11 in. 12.5-Watt Dimmable White Integrated LED Edge-Lit Round Flat Pan	4	\$35	\$140
1002366420 180 Degree Black Motion Activated Outdoor Integrated LED Twin Head Fl	2	\$35	\$70
	-	r	Ŧ. <b>3</b>

453701 IN-WALL POWER CORS & CABLE KIT	1	\$35	\$35
818313 6 LT XENON PUCK LIGHTS W/DIM-BLK	1	\$35	\$35
1002098183 2 ft. 25-Watt White Integrated LED Strip Light	1	\$35	\$35
1002756975 Sliver Amplified Flat Multi-Directional HDTV Indoor Antenna	1	\$35	\$35
1002738591 18 in. Premium LED Linkable Under Cabinet Light Fixture	1	\$35	\$35
1004019367 WYZE CAM 1080P HD INDOOR CAMERA	1	\$35	\$35
990230 270D BULLET HALOGEN - WHITE	9	\$34	\$310
1003317016 LV OUTDOOR LANDSCAPE SPEAKER	2	\$34	\$69
438077 NAUTICAL 12" WHITE MOTION EXT WALL	1	\$34	\$34
1002669670 3-Watt Oil Rubbed Bronze Outdoor Integrated LED Landscape Path Light v	3	\$33	\$99
1001813972 12 in. (30 cm) Linkable Single Color Indoor LED Flexible Tape Light Kit (4 St	2	\$33	\$66
1003453329 9.8-Watt Millennium Black Adjustable Light Color Outdoor Integrated LED	2	\$33	\$66
1003325268 HALO RL 4" LED SELECT CCT 900 LUMEN	1	\$33	\$33
1002578051 HDI-4017-BK 1LT WALL LANTERN BLACK	1	\$33	\$33
1002670591 2-Watt Black Outdoor Integrated LED Landscape Path Light	1	\$33	\$33
1001488304 Low-Voltage 10-Watt Equivalent Oil-Rubbed Bronze Outdoor Integrated	1	\$33	\$33
1002643989 Solar Powered 16 ft. Clear Outdoor Integrated LED 5000K Warm White La	1	\$33	\$33
1002628623 5.5 in. x 5.5 in. Outdoor Black Solar Integrated LED Plastic Post Cap Light v	1	\$33	\$33
1000015215 1-Light Brushed Nickel LED Track Lighting Spot-Light	1	\$32	\$32
1000014557 1 LIGHT OUTDOOR RUST LNTR TW PK_DNI	1	\$32	\$32
702957 180D BRONZE MOTION SECURITY LIGHT	1	\$32	\$32
1003991090 1-PC INTELLIGENT SOLAR SECURITY LIG	1	\$32	\$32
1002423352 LETEZIA 1LT CHR PENDANT DNI	3	\$31	\$94
1001698107 CE 4FT LED SHOP LIGHT W/ PULL CHAIN	3	\$31	\$94
750964 270D RUST MOTION SECURITY LIGHT	3	\$31	\$93
624719 ETTRICK 2LT VANITY BRONZE DNI	2	\$31	\$63
349965 DUNBAR 7-3/4" WHITE EXT POST LANTERN	2	\$31	\$61
165271 12/3 50' RIDGID TRI TAP EXT CORD	1	\$31	\$31
1001625841 12-Light 24 ft. Black Commercial String Light	3	\$30	\$90
1001417374 HB WIRELESS DOOR ALERT KIT	2	\$30	\$60
1001411385 HB WIRELESS DOORBELL EXTENDER KIT	2	\$30	\$60
1003008643 Wireless Battery Operated Door Bell Kit with 2-Push Buttons in White	2	\$30	\$60
1002592777 Littleton 42 in. LED Indoor White Ceiling Fan with Light Kit	2	\$30	\$60
1003851455 FIXED WALL MOUNT FOR ALL TV SIZES	2	\$30	\$60
1003954602 Hands free Car Kit with FM Transmitter	1	\$30	\$30
1001411364 Wireless Table Top Strobe Door Bell Kit	1	\$30	\$30
1000054713 13 in. 60-Watt Equivalent Oil-Rubbed Bronze Integrated LED Flushmount	1	\$30	\$30
1003008624 Wireless Plug-In Door Bell Kit with 2-Push Buttons in White	1	\$30	\$30
1003934460 150-Watt Gray Indoor/Outdoor Area Incandescent Vapor Tight Light	1	\$30	\$30
1002956547 1-Light Black Outdoor Wall Mount Lantern (2-Pack)	1	\$30	\$30
1000052840 Steelie Car Mount Kit	1	\$30	\$30
1003325265 RL 4 in. White Integrated LED Recessed Ceiling Light Retrofit Trim at 3000	1	\$30	\$30
248593 180D 100W BLACK MOTION WALL LANTERN	1	\$30	\$30
151007 4FT LED STRIP	2	\$29	\$57
524320 3LT ANTQ BRNZ RND BASE CEILING LIGHT	1	\$29	\$29
705207 ANDENNE 4LT BN VANITY DNI	1	\$29	\$29
1002988741 71.5 in. Silver Mother/Daughter Floor Lamp with LED Bulb Included	2	\$28	\$56
248617 180D 100W WHITE MOTION WALL LANTERN	1	\$28	, \$28
602674 NM IN-USE CVR KIT W/GFCI- CLEAR	1	\$28	\$28
1003982250 7" LED CEILING MNT LIGHT W/SELECTCCT	1	\$28	\$28
702480 LEEDS 7"MYSTIC BRNZ EXT WALL LANTERN	1	\$28	\$28
			, -

1003144765 Plugmold 22 in. 2-Outlet/2-USB 22 in. Hardwired Power Strip with Tampe	1	\$28	\$28
328080 RAINPROOF SCREW COVER BOX 8X8X4	1	\$28	\$28
214012 12/3 50' RIDGID EXTENSION CORD	3	\$27	\$82
349933 MARINA 13" WHITE EXT WALL LANTERN	3	\$27	\$81
1000640809 Black Outdoor LED Wall Lantern	2	\$27	\$54
610563 ASHHURST 3LT BN VANITY DNI	2	\$27	\$53
1001486697 1-Light Solar Outdoor Integrated LED 3000K 30-Lumens Rock Spot Light	1	\$27	\$27
1004120302 7.5" FLAT PANEL RND 4WY WHT	1	\$27	\$27
439152 BONITA 14-1/2" WHT EXT WALL LANTERN	1	\$27	\$27
599553 4" WHITE SHOWER TRIM	1	\$27	\$27
204960 11" ROUND LED PUFF ,WHITE FINISH	1	\$27	\$27
327574 4" HALO LED IC AT T24 REMODEL HSG	10	\$26	\$256
1002315420 18-Volt ONE+ Hybrid Score Secondary Wireless Speaker	2	\$26	\$52
331434 71" ANTQ BRNZ MTHR/DGHTR FLOOR LAMP	1	\$26	\$26
277576 12/3 50' HUSKY EXTENSION CORD	1	\$26	\$26
273628 ESSEN 9" CPPR EXT WALL LANTERN	1	\$26	\$26
492819 4' 2LT SLIM LINE STRIP LIGHT T8 32W	37	\$25	\$914
703499 180D WHT MOTION SECURITY LIGHT-DNI	6	\$25	\$151
146447 BREAKER QO 30A 2-POLE	2	\$25	\$50
802542 4' 2LT BASIC WRAP T8 32W	2	\$25	\$50
1003021644 RL 4 in. White Integrated LED Recessed Ceiling Light Retrofit Trim with Se	2	\$25	\$50
1000015417 RL 4 in. White Integrated LED Recessed Ceiling Light Fixture Retrofit Baffle	2	\$25	\$50
1000015136 RL 5 in. and 6 in. White Integrated LED Recessed Ceiling Light Fixture Retr	2	\$25	\$50
703390 180D BLK MOTION SECURITY LIGHT-DNI	1	\$25	\$25
1002669467 JAO2601LL MEDIUM LED DECK LIGHT BLK	1	\$25	\$25
1000030825 5 Amp Humidity Sensor Fan Speed Control, White	1	\$25	\$25
1002365413 Bluetooth 4 in. White Dimmable LED Recessed Trim with Color Temperati	1	\$25	\$25
1002694759 270 DEGREE REPLACEMENT SENSOR, BLACK	1	\$25	\$25
1000317919 5 in. and 6 in. 2700K Matte White Recessed Retrofit Baffle-Trim LED Mod	1	\$25	\$25
1001862463 H2750 6 in. Aluminum LED Recessed Lighting Housing for Remodel Shallo	1	\$25	\$25
1001471827 Fixed Wall Mount for 20 in 57 in. TVs	1	\$25	\$25
1004100346 15 Amp 24-Hour Outdoor Plug-In Heavy Duty Timer, Black	1	\$25	\$25
491796 4' 1LT SLIM LINE STRIP LIGHT T8 32W	10	\$24	\$240
145785 T40-4" LED RETROFT TRIM/DOMED LENS	4	\$24	\$98
1003174551 32-Watt 2-Light White 4 ft. Fluorescent Strip Light	2	\$24	\$49
705075 ANDENNE 3LT BN VANITY DNI	2	\$24	\$48
1002433689 1LT VINTAGE SCONCE DNI	1	\$24	\$24
1000034809 OPP WHITE LED TRACK HEAD	1	\$24	\$24
1000010764 1-Gang Horizontal or Vertical Mount Weatherproof Extra Duty In-Use Cov	1	\$24	\$24
447614 HAMILTON 3LT OIL RUBBED BRNZ VANITY	1	\$24	\$24
283964 3LT OILRUB BRZ RIBBED GLS FAN LT KIT	1	\$24	\$24
418916 150D BLK BAYSIDE MOTION WALL LANTERN	1	\$24	\$24
381210 1'X4' REPLACEMENT LENS FOR LB2 40/32	3	\$23	\$70
1003452693 4.5-Watt Millennium Black Adjustable Light Color Outdoor Integrated LED	1	\$23	\$23
1003452837 4.5-Watt Millennium Black Adjustable Light Color Outdoor Integrated LED	1	\$23	\$23
283697 3LT BR NICKEL RIBBED GLS FAN LT KIT	1	\$23	\$23
978071 150W INCNDSCNT PEWTER VAPOR LIGHT	6	\$22	\$130
467987 4" HALO IC AIRTIGHT NC HOUSING	5	\$22	\$110
997722 CE 7PC ELECTRICIANS TOOL SET W/POUCH	1	\$22	\$22
1003570484 BT SPEAKER PORTABLE POWER BANK	1	\$22	\$22
528299 64.5" BRSHD NKL 3 HEAD FLOOR LAMP	1	\$22	\$22
	=	, ==	Ŧ- <b></b>

1003335301 180D 700L LED BATTERY MOTION BRZ	1	\$22	\$22
704943 ANDENNE 3LT ORB VANITY DNI	1	\$22	\$22
1000016255 13 in. 2-Light Oil Rubbed Bronze Flushmount with Frosted Glass Shade (2-	1	\$22	\$22
1002332263 KT ELECTRONIC AC/DC VOLTAGE TESTER	1	\$22	\$22
666055 2' 2LT T8 WRAP T8 17W	1	\$22	\$22
716196 48' ROPE LIGHT KIT-CLEAR	8	\$21	\$172
883902 COACH 20-1/4" WHITE EXT WALL LANTERN	3	\$21	\$63
103256 PORT OXFORD 5"CHESTNUT WALL LANTERN	1	\$21	\$21
284478 3LT SANDSTONE/ALABASTER FLUSHMOUNT	1	\$21	\$21
592089 TTL 20-72"BRONZE TORCHIERE FLOOR LMP	1	\$21	\$21
1001266087 1-Light LED Schoolhouse Ceiling Fan Light Kit	1	\$21	\$21
328078 RAINPROOF SCREW COVER BOX 6X6X4	1	\$21	\$21
1001862502 E26 Series 5 in. White Recessed Ceiling Light Self Flanged Shower Trim wi	21	\$20	\$419
1002628551 10-Light 12 ft. Integrated LED Clear Crackle Glass Ball String Light Set	13	\$20	\$260
1002632078 5/6 in./J-Box 12-Watt Dimmable White Integrated LED Round Flat Panel C	13	\$20	\$260
1002106229 2 ft. 12-Watt White Integrated LED Strip Light	6	\$20	\$120
1003008625 Wired Door Chime in White	5	\$20	\$100
1003008627 Wireless Plug-In Door Bell Kit with 1-Push Button in White	3	\$20	\$60
1004199291 GLOW Outdoor Solar 10-Light Integrated LED Watery Blue String Light Set	2	\$20	\$40
1003174549 40-Watt 2-Light White 4 ft. Fluorescent Strip Light	2	\$20	\$40
1001363416 Northwood's Glass Silhouette Solar Outdoor Integrated LED Post Cap Dec	2	\$20	\$40
1003254540 BLD 6 in. White Integrated LED Recessed Ceiling Mount Light Trim at 300(	2	\$20	\$40
612708 ASHHURST 2LT BN VANITY DNI	2	\$20	\$39
1003620390 CE 8FT LED RGB TAPE LIGHT	1	\$20	\$20
1000054718 9 in. 60-Watt Equivalent Oil-Rubbed Bronze Integrated LED Mushroom Flu	1	\$20	\$20
1003821751 Oval 11-Watt with Ni-Cad 3.6-Volt Battery White Integrated LED Emergen	1	\$20	\$20
1003254539 BLD 4 in. White Integrated LED Recessed Ceiling Mount Light Trim at 300(	1	\$20	\$20
1003422070 LA 4 in. White Integrated LED Recessed Ceiling Light Fixture Adjustable Gi	1	\$20	\$20
1000015409 1 -Light White Halogen Track Lighting Head	1	\$20	\$20
1002632071 5/6 in./J-Box 12-Watt Dimmable White Integrated LED Square Flat Panel (	1	\$20	\$20
1003254464 BLD 6 in. White Integrated LED Recessed Ceiling Mount Light Trim at Sele	1	\$20	\$20
1002477345 Wireless 120-Degree Bronze Motion Activated Outdoor Integrated LED S€	1	\$20	\$20
1001390177 Plug In or Direct Wire Power Connection 2 ft. White 4000K Integrated LEC	1	\$20	\$20
1002805024 LED Directional 4 in. White Recessed Kit	1	\$20	\$20
1002433722 1LT BRONZE SCONCE DNI	1	\$20	\$20
797674 4" HALO NON IC HOUSING	3	\$19	\$56
696626 11" LED FM BN DNI	2	\$19	\$38
589473 30A 125V BLK&WHT LOCKING CONNECTOR	1	\$19	\$19
1003606815 LV LED POND LIGHT BLACK	1	\$19	\$19
387034 4" LITHONIA GU10 WHITE GIMBAL KIT	1	\$19	\$19
1003622081 3 ft. 2-Light 45-Watt White Integrated Utility LED Shop Light	1	\$19	\$19
697388 11" LED FM ORB DNI	1	\$19	\$19
286527 1LT BRUSHD NICKEL WAREHOUSE PENDANT	1	\$19	\$19
327409 4" HALO LED IC AIRTITE T24 NC HSN	1	\$19	\$19
288337 5" HALO LED REMOD T24 HOUSING	8	\$18	\$148
1002229532 DEFIANT DIGITAL IN WALL 3-WAY TIMER	2	\$18	\$36
296466 AGED IRON EXT FLUSHMOUNT	1	\$18	\$18
842006 6" HALO IC AIRTITE SHALLOW HSNG EACH	1	\$18	\$18
700882 110D MOTION SECURITY LIGHT- BLK	1	\$18	\$18
1002956545 2PK 1LT RIBBED GLASS WALL LIGHT BLK	1	\$18	\$18
288205 5" HALO LED NC T24 HOUSING	7	\$17	\$122

845262 6" HALO IC AT SHALLOW REMODEL HSNG	6	\$17	\$103
1000007653 H7 6 in. Aluminum Recessed Lighting Housing for Remodel Ceiling, Insulat	5	\$17	\$83
997388 AGED IRON 5-1/2" EXT WALL LANTERN	2	\$17	\$34
1002702859 NATURAL CRYSTAL SALT LAMP	2	\$17	\$33
1000017621 RL 5 in. and 6 in. White Integrated LED Recessed Ceiling Light Fixture Retr	1	\$17	\$17
1001070834 HALO 6" LED T24 NC SHALLOW IC AT HOU	1	\$17	\$17
445997 HAMILTON 2LT BRUSHED NICKEL VNTY DNI	1	\$17	\$17
1002831160 BLUETOOTH SPORT SERIES WIRELESS MAGN	1	\$17	\$17
447162 HAMILTON 2LT OIL RUBBED BRNZ VANITY	1	\$17	\$17
705888 FLEX SCREWIN CONNECTOR 1/2" PK50	1	\$17	\$17
797044 4" HALO CHROME REFLECTOR TRIM	4	\$16	\$64
1003182138 EVERBRITE ULTRA BLK MOTION LED SOLAR	3	\$16	\$48
1004087602 20 Amp 60-Minute Indoor In-Wall Spring Wound Countdown Timer, Whit	1	\$16	\$16
1000020915 SOLAR STEP LIGHT 4PK	1	\$16	\$16
691182 WHITE MOTION SENSOR	1	\$16	\$16
1002240046 LT 4 in. White Integrated LED Recessed Ceiling Light Fixture Retrofit Dowr	1	\$16	\$16
1003837694 LV LED OUTDOOR TAPE LIGHT WARM WHITE	1	\$16	\$16
1003008628 Wired Door Bell Tri-Volt Transformer	7	\$15	\$105
1003241179 600-Lumen Battery Powered Handheld Light	2	\$15	\$30
232637 42" WHITE REPLAC FAN BLADE ARMS	1	\$15	\$15
1001417367 Wireless Door Bell Push Button, Brushed Nickel	1	\$15	\$15
1003002344 LT 4 in. White Integrated LED Recessed Ceiling Light Retrofit Trim at 5000	1	\$15	\$15
1003235453 1 Light 4000K 3 ft. White Integrated LED Shop Light (with 5 ft. power cord	1	\$15	\$15
1002259001 TZUMI AUTO / HOME MICRO CHARGEPAK	1	\$15	\$15
1003008635 Wired Door Bell Push Button in Mediterranean Bronze	1	\$15	\$15
1001492696 Low-Voltage 7-Watt Black Outdoor Halogen 3-Tier Landscape Path Light	1	\$15	\$15
146190 MET IN-USE MULT-APPL CVR 2-GANG	1	\$15	\$15
1001862476 E26 5 in. Aluminum Recessed Lighting Housing for New Construction Ceili	4	\$14	\$56
1003343292 ASOTV CLEAR TV ANTENNA	3	\$14	\$43
1003370613 CAR & WALL CHARGING SET MICRO-USB	3	\$14	\$41
1000043809 CLIP CASE SIDEWAYS XL- BLACK	2	\$14	\$28
328045 SCREW COVER PULL BOX6X6X4	1	\$14	\$14
1002928687 T&G BRAIDED CABLE LIGHTNING, 6FT	1	\$14	\$14
797710 6" HALO IC REMODEL HOUSING	7	\$13	\$88
463837 180 DEG MTN SNSR LT W/COVERS WH	5	\$13	\$66
284604 2LT SANDSTONE/ALABASTER FLUSHMOUNT	4	\$13	\$54
1003459622 Solar Bronze Outdoor Integrated LED 3000K 8-Lumens Landscape Pathwa	2	\$13	\$26
1001482121 Dusk-to-Dawn Oil-Rubbed Bronze LED Outdoor Wall Lantern	1	\$13	\$13
384955 3" LITHONIA GU10 NICKEL GIMBAL KIT	1	\$13	\$13
1002344505 WHITE TWIN PAR WALL MOUNT FLOOD LIGH	1	\$13	\$13
1003829120 HUSKY 300LM LED FLIP LIGHT	1	\$13	\$13
1003411109 12-Light Large Cafe Clear String Lights	1	\$13	\$13
1001249254 Double Jaw Wire Stripper and Crimper	1	\$13	\$13
1003880297 16 FT. CANDY CANE ROPE LIGHT WW	1	\$13	\$13
797612 6" HALO IC HOUSING	13	\$12	\$161
795261 E/O 6" HALO LED REMODEL HOUSING	9	\$12	\$108
1003320613 LED SOLAR DUSKTODAWN MOTION WALL LT	5	\$12	\$60
498528 5 IN HALO AIRTITE REMOD HOUSING	2	\$12	\$24
1002717363 EVERBRITEWH	1	\$12	\$12
556821 2LT ALABASTER W/PEWTER CLIPS FLSHMNT	1	\$12	\$12
1002305211 300-Watt Bronze Outdoor Twin-Head Security Flood Light	1	\$12	\$12

596800 2LT BRNZ PAR FLOODLIGHT W/PHOTOCELL	1	\$12	\$12
1002928696 T&G COILED CABLE FOR LIGHTNING, 3FT	1	\$12	\$12
385879 3" LITHONIA GU10 WHITE BAFFLE KIT	1	\$12	\$12
284755 1-1/2 RIGID COMPRESSION CONNECTOR	1	\$12	\$12
155194 13" 2LT BRUSHED NICKEL FLUSHMOUNT	1	\$12	\$12
427963 6" HALO IC AIRTITE HOUSING	4	\$11	\$46
794964 E/O 6" HALO NC LED HOUSING	2	\$11	\$21
520938 WALL GROMMET KIT	1	\$11	\$11
1000010762 FLOOD KIT 2-LAMP TRADITN BRNZ	1	\$11	\$11
1000000956 120V FLEX TRACK HEAD SVR FSTD SHADE	7	\$10	\$73
936671 FLAT SCREEN TV CORD COVER	2	\$10	\$20
556219 6" HALO R30 WHITE BAFFLE TRIM	1	\$10	\$10
1003906396 Magnetic Ball and Socket Phone Mount with Built-In Grip Strips	1	\$10	\$10
1003002348 LT 5 in. and 6 in. White Integrated LED Recessed Ceiling Light Retrofit Trin	1	\$10	\$10
1003994343 HANDY BRITE	1	\$10	\$10
147244 NM IN-USE COVER 2-GANG GRAY	1	\$10	\$10
385706 13" 2LT PB FM W/CLR SWIRL GLS-CORE	1	\$9	\$9
601004 10/4 6' DRYER CORD	1	\$9	\$9
759163 REMODEL FAN BRACE W/DEEP BOX	1	\$9	\$9
580932 UNIVERSAL REPLCMENT PHOTO EYE	1	\$8	\$8
330284 SLIMLINE NM IN-USE COVER-GRAY	1	\$8	\$8
1004385484 6 ft. 3-Outlet Surge Protector, 2 USB 2.4 Amp 400 Joules Braid Cord	1	\$6	\$6

1159 \$57,799

**RETAIL VALUE \$57,799.00** 

**SELLING FOR \$4995.00** 

**ITEMS: 1159** 

**HOME DEPOT LIGHTING AND ELECTRICAL LOAD**